We can  computz h«‘ow—wm par kel

ey ¥.%) = Xeos ZK‘F')

9 8
ax %
N ﬁ means 1(3_‘(:_)
dx % x\ 72 ™~
Sawe .
A Hernate +ex means G})x
_3i ~ —)Czjsi\n(xvl?-)
ot
P o -luySnboy) - Ky eslbvy)(ye)

0X 0%

= -—lX\/\ sih(xw‘l«) — 12\111— C%(X%ﬁ -



Uschnl Thim®  Spe R R & Suh Bk

-Px_ %Y, -f( Gve. 0&5 ‘fbra.u l:|()

[ u.’(j
Thew

et for L

u M‘WM\)“\/\ N\ w\,\)J;A pavh als?

(2 -F(x.\J\q—)'v XwS(x\Jz)
# . osley?r) - xyzsinleyy)
ox

e - -SIn (xv"t—) (,x\1) —4\(\] 5w\(‘y,v‘}) - 1‘1’-2'6,0%(.14)&)
¥t K

~lxvatm i) - X2yt Loy Xyt .

|



